Armrest Assembly
Non-Flip Back Arms Before 10/15/98

“Spring lock

not included
w/ arm base

asbly.

Seat side frame
/" reference only.

Vs

Seat side frame
reference only.

A
g
e
14" Deep chairs only.



Armrest Assembly

Non-Flip Back Arms Before 10/15/98

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 1041522 Arm Tube Assembly w/ Plug Buttons, Full Length, 1 1
Black - Right/Left
1 1070859 Arm Tube Assembly w/ Plug Buttons, Desk Length, 1 1
Black - Right/Left
2 A 1117328 Kit, Arm Pad w/ Screws, Full Length, Urethane 1 1
Waterfall, Black
(13" L x 2-5/8" W)
2 1110818 Kit, Arm Pad w/ Screws, Full Length, Urethane 2 1
Waterfall, Black (13" L x 2-5/8" W) (Pair)
2 A 1117327 Kit, Arm Pad w/ Screws, Desk Length, Urethane 1 1
Waterfall, Black
(9" L x 2-5/8" W)
2 1110817 Kit, Arm Pad w/ Screws, Desk Length, Urethane 2 1
Waterfall, Black (9" L x 2-5/8" W) (Pair)
3 1027095 Plug Button, Black (7/8") 1 2
4 1055949 Package, Screw, Phillips Pan Head (#10-32 x 2 1
1-3/8")
4 B 1094270-NLA | NLA - Package, Screw, Phillips Pan Head (#10-32 x 2 1
1-1/4")
5 1090768 Kit, Lock Handle w/Rivets (Pair) 2 1
6 47471X074 Spring, Arm Lock 1 1
7 1028594 Pin, Arm Lock, Black 1 1
8 1032245 Grip, Foam Hand (6-7/8" L) 1 1
9 1018225 Spring, Torsion with Button Lock 1 1
10 1028645 Rivet 1 6
11 1064130-NLA | NLA - Guard, Clothing 1 1
12 1035065 Cover, Clothing Guard w/ Pocket, FXDESK & 1 1
ADJFULL/ADJDESK
13 0050406 Washer, Flat (1/4 x 5/8 x 1/16") 1 8
14 7930333 Locknut (1/4-20) 25 4
15 1024793-NLA | NLA - Screw, Hex Head (1/4-20 x 1-3/4") 1 4
16 0050506-NLA | NLA - Lockwasher, High Collar, Split (1/4") 1 4
17-21 See Chart Item #'s 17-21 Armrest Assembly - Non-Flip Back 1 1
Arms Before 10/15/98

NOTE: A - As of 1/3/02 upholstered waterfall armpads were replaced with black urethane waterfall armpads. Order in pairs with
screws for chairs serviced before 1/3/02.
B - For Black Urethane Waterfall Arm Pads Only

ltem #'s 17-21 Arms

. 17. Arm Tube | 17. Arm Tube 18. Arm Base 19. Armrest 20. Armrest 21. Armrest
Side w/ Arm Pad - | w/ Arm Pad - Assembl Socket - Front | Socket - Rear | Mtg. Hardware
Full Length Desk Length y 9
Right 1110821-NLA | 1110819-NLA | 1575943 NLA | 1072951-NLA | 0121602-NLA | 1072949-NLA
14" Deep See Note(s) A See Note(s) A
'!_eft 1110822-NLA | 1110820-NLA 1072944-NLA | 1072952-NLA | 0121502-NLA | 1072950-NLA
14" Deep See Note(s) A See Note(s) A




Armrest Assembly
Non-Flip Back Arms Before 10/15/98

Item #'s 17-21 Arms

Side

17. Arm Tube
w/ Arm Pad -
Full Length

17. Arm Tube
w/ Arm Pad -
Desk Length

18. Arm Base
Assembly

19. Armrest
Socket - Front

20. Armrest
Socket - Rear

21. Armrest
Mtg. Hardware

Right
15" and
Deeper

1110821-NLA

See Note(s) A

1110819-NLA

See Note(s) A

1057411-NLA

0121502-NLA

0121302-NLA

1072789-NLA

Left
15" and
Deeper

1110822-NLA

See Note(s) A

1110820-NLA

See Note(s) A

1057412

0121602-NLA

0121402-NLA

1072930-NLA

NOTE:

with arm pad for chairs serviced before 1/3/02.

A - As of 1/3/02 upholstered waterfall armpads were replaced with black urethane waterfall armpads. Order right and left arm tube




